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In some countries, young people are encouraged to work or travel for a year between finishing
high school and starting university studies. Discuss the advantages and disadvantages for young
lpeople to do this.

5t/ £/ %A% : between finishing high school and starting university studies/ young people
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In some countries, many more people are choosing to live alone nowadays than in the past. Do
you think this is a positive or negative development?

5/ /%A% nowadays/ in some countries
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In some countries, young people are encouraged to work or travel for a year between finishing
high school and starting university studies. Discuss the advantages and disadvantages for young

people to do this.
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As can be seen from the world, nowadays high school graduates are suggested to have trips or
find paid jobs for a year before enrolling in universities (8 T-24’5). This essay will discuss both

pros and cons of this phenomenon (17824 5).

Many students are taught to push themselves to try and be better than other students, rather

than work together for everyone's benefits. Do the advantages outweigh the disadvantage?
(CHIVFISNEY |

Nowadays, some students are trained to force themselves and be more outstanding than peers,

instead of working for benefits as a group (#1245 ). As far as | am concerned, the merits of this

approach cannot outweigh the drawbacks ([7]NFE H , 2B ).

(RSP |
it &5.: advantage, merit, strength, benefit
Bl : disadvantage, demerit, weakness, drawback
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However, this problem is possibly to be solved if+fi# R /5 &
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However, this strength is not sufficient to offset the demerits discussed above.

1.2 ZREBREE
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In spite of the weakness of XX (i /), doing something ({5 7-2¥) is more attractive to somebody,
since+ 5 FPIRE A1) (AL 140051 2)
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More and more people use computers and other electronic devices to access information. Some|
lpeople argue that there is no need for printed books, newspapers or magazines. To what extent
do you agree or disagree?

5t/ /%A people use computers and other electronic devices to access information

LTI e NATIAS TS 2B vs AT 75 22 B

ISome people think that students should study international news as a subject. Do you agree or|

disagree?

B 5/ E 8264 students
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ISome people think that it is more important to plant more trees in open area in towns and cities
than build more housing. To what extent do you agree or disagree?

5t/ /5 in open area in towns and cities
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ISome people think everyone should be a vegetarian, because we do not need to eat meat to have

a healthy diet. To what extent do you agree or disagree?

50/ B/ %A everyone
OIS B FE L vs FFREE X
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Some people believe that unpaid community service should be a compulsory part of high school
programs (for example working for a charity, improving the neighborhood or teaching sports to

younger children). To what extend do you agree or disagree?

(GUIVPINED |
Nowadays, people are more inclined to integrate unpaid community service into the mandatory
part of curriculum settings. As far as | am concerned, (not) taking unpaid community service as a

compulsory course is more beneficial.

Nowadays, people are (not) more inclined to integrate unpaid community service into the

mandatory part of curriculum settings. However, | hold the opposite opinion.
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FRE 1 5 unpaid community service 4 ME IR K FIUFAL 1;

FRE 2 5 unpaid community service 4 MBI SR IIFAL 2;
FRE 3 5 unpaid community service 4 MBI SR 1AL 3.
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eg. Some people believe that nowadays we have woo many choices. To what extent do you

agree or disagree?

eg. People believe that using mobile phones and computers to communicate makes us lose the

ability to communicate with each other face to face. To what extent do you agree or disagree?

db 5.

i 5t/ R/ 21F: using mobile phones and computers to communicate.
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eg. Some people think individuals are more and more dependent on each other. Others believe
we are more and more independent.
Discuss both views and give your own opinion.
5/ E 44 WAL, {H more and more F Sl /2 78 UH“BL N4 481k
XFSLHIP AR R BRI vs HBRSRBRR ST

eg. The high sales of popular consumer products reflect the power of advertising and not the
real needs of the society in which they are sold.
To what extent do you agree or disagree?

5t/ /%A high sales of popular consumer products
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Nowadays, some people argue that face-to-face communication ability has been weakened with

the prevalent use of mobile phones and computers. However, | hold the opposite view. / | have

the same view.
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